o |
DA vl

b

QEH|A FE|

rot

8. T2 (=2, 9elH AH B y= o] aeas) e TA BOIEMR
2}, 2008H T FsEH &Lt

-
:".‘,F_]J-

A7 (=2, 2)4dA FF glos
glx)= fx)+ f(—x)

ZAF b, <B7>elA 2 Ae BF 28 A [43)

1. ]il'!]ljf(x)ﬂ- e kig=y
L. lim g(x)7} &2k
x—0

o @ g(0E x= 104 oo}

o 7|IZ2MoM &5 flz)= A= 270 ™o thsto] tiael a4 = 7|gs
2 HOo[X|gt (0, —1)0l2t= & A m 2ol 7|&5IF =X REch,
= fl—z)=—f(z)E ot=sctn & £ glenl, ohek 4 =00[2Hs =#H0| 2=tk

2= o ofsto] f(—=x)

i
|
=
&
S
[
N
w
4>
30
o>
I
ul

2f(0)=—2
N _[x=0)0 R ol Lo
guch m2iM gx) = ($:0>_2ELT’_ ZtekstAl Melg = A1, gla)= =08 A
ostile= Mgty YEfO|EE v, w0 BF FS HiZE mete 5 S

st f@)E ZIgsEln st E3X|oH =091 2ol CHSHO
f(=z)=—f(x)ol2tm stH Zrol HWHI} EUct & FEMozs 7|gsetn &

T A YEIAU T otei= MIF 2HE Zichel HYEZHM U T ASsH2EMR



1. ofgfet Zol 2=09l 2= zof sl f(—z)= —f(z)

7F U

fjo

o, &

ro

Aoz <HI7|>0M e o2 1E

<H 7>

im0
2208l a0l TiBtof (f - f)—a)=—(f - )la)

C.oE (fe )2l 295" = 374 olch




